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| nstructions:

Q.1.

Q.2

Q.2

1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figurestotheright indicate full marks.

Answer the following. 14)

(i) Define : (a) Metre (b) Kilogram

(i) Distinguish between Adhesive force and Caoves$orce.

(iif) Describe measures to minimize reverberatiore.

(iv) Explain total internal reflection of light.

(v) Write two properties of alpha rays.

(vi) Write two applications of X-rays.

(vii) The refractive index of glass is 1.5. If velty of light in air is 3 x 1bm /s,
calculate the velocity of light in glass.

(A).Select the correct alternative. (7
() Which one of the following is a derived quidyf?
(a) Mass (b) Force (c) Length (d) Time
(i) The angle of contact for liquid which doestnvet glass surface is
(@) =90 (b) > 90 (c)< 9@ (d)=0C
(iif) Sound cannot travel through
(a) Solid (b) Vacuum  (c) Liquid (d) Gas
(iv) is called Snell's Law.

sini sinr L
(a) —— =const. (b)——- =const. (c) sini * sin r = const.
sinr sini

(d) ; =const.
sini*sinr

(v) The number of protons igC'*? is

(@6 (b) 12 (c) 18 (d) none of these
(vi) X-rays are waves.

(a) stationery (b) progressive (c) Electromagnet{d) longitudinal
(vi) 100 dyne = Newton

(a) 16 (b) 10° (c) 10 (d) 10°

(B).AnswerAny two of the following.
(i) Explain Ruby LASER method to produce LASE#S.
(i) Write a short note on : Nuclear Reactor.
(ii) If the frequency of a tuning fork is 660 Hind the velocity of sound is 0.33 km /s.
Find how far sound travels while the fork complet&svibrations.

Q.3(A).Write fundamental units in SI System witleithsymbols.

(B) Describe working of a Vernier Calipergiwa neat diagram.

(C) Least Count of a micrometer screw i90.6m. When a steel ball is gripped between
the ends of a micrometer screw, its main scalding is 12 mm and ivision of
head scale coincides the base line of the maile s€alculate the diameter of the ball.
Error of the micrometer screw is O.

(7)

(5)
(5)
(4)



OR

Q.3(A). Explain surface tension on the basis ofauolar theory. (5)
. rhdg
B) Derive T = 5
(B) 2cosd ®)
(C) A soap film is created on a square frafilen is extended by pulling wire 0.05 m. 4)

Length of the frame is 0.07 m. Calculate the wawke. Surface tension of soap
solution is 28 x 18 N/m.

Q.4(A). Distinguish between transverse waves anditudinal waves. (5)
(B) Describe any one method to producestinic sound. (5)
(C) The volume of an auditorium is 5000and its total coefficient of sound absorption  (4)

is 330 OWU. Calculate its reverberation time.

OR
Q.4(A). Explain interference. (5)
(B) Draw a figure of simple microscope axgblain its working. Derive formula for (5)
its magnifying power.
(C) Find position, nature and size of actrPtall object placed vertically on principal (4)
axis at a distance of 50 cm from a convex ldriecal length 25 cm.
Q.5(A). Define (i) half life (ii) decay constan(iii) mass defect (iv) binding energy (5)
(v) Curie
(B) Explain the phenomenon of nuclear @issi (5)
(C) Calculate decay constant for a radiovasubstance having half life period of 10 daf).
OR
Q.5(A). Explain with diagram how X-rays are proddan Coolidge Tube. (5)
(B) Write applications of LASER beam. (5)

(C) Explain the phenomenon of fluoresceidte the names four fluorescent material.  (4)
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Ao 2s+lldlsa YRar(lel

Qe AR—1, 3 lue ulan Wl — R00¢
A 518 :32000R

[ A slenss At — 4 ($bilsu)
il : 30/ 03 [R00¢ UMY : 1Y — 0o ¢l 1€.30
$4 Q1 90
UL
MM, Wi Rl %ol YAl %A O
%33 AR Al 4L 419U HIRRLVAL slitd].
orHRll ol saldd Aisdl sl yu o euld 8.
eyt ol 3ol ud L eyd AR,

Q.. cﬂaou Yl oll cllol AL (14)
(1) cavdl AW : (1) Hle: () (Bcloun
(2) VAUGA AN Bl AWRAGA ol ARA dAslelcdt AR,
(3) WQel™ AH2A galsal Hizetll GULll kUl
(4) Uslal of Yol wcdRs URlctclot uHHAL
(5) lest (500 ot A oeruall cul.
(6) &l-(320 olt A Gualoll LUl
(7) sl dlsetastis 1.5 B. ustal ol saudi »3su 3x108 Hl/QA
Al Al Aol B3su stAHl decll u ?
Q.2(A) A= (AscU Udet $3.
(1) o{lActt Hiell u@d elllds 2l 585 B?

E N

(A) €O (W) ol (5) dolly (5) A
(2) ¥ yasl sl AUl A ellwad otell Aal w2 g slel of yeau
(A) = 90°  (A) > 90° (5) < 90° (s) = 0°
(3) Ui el dRoll of YRl ad «tell.
() tot UL (1) goulasial  (s) yaugl () auy
(4) WA ol Qan 0,
(1) ;ﬂ_uum (o) ?_ AW (5) sin i * sin r =AUAN
() L= waa
sini*sinr
(5) stelol (C™2 oll URHIR Hi Ylalot ol jvaul Q.
(U) 6 (W) 12 () 18 () el s9 ol
(6) Wa-2 A R0l B.
) R (o) youl (5) [@Qayrolldal (s) Aol
(7) 100 Sl8el = o?j2al.
(A) 10° (o) 10° () 10° (s)10°

Q.2(B) o{lAotl Yl oll wcllol AW (SleuRl O)
(1) QAR (300 Geurt sall 30l AR UslA of aviat 53,
(2) AU A2 (AUQ GEl) UR &5 ol AW,
(3) As wR siel ol pUg[A 660 Hz BD. A el sl Aol 0.33 km /sdlaA Al
R 82l 75 $Uot YU 82 RUR dRI\ 2 AR s ?



Q.3(A) AU W, UG ol Yoo A5 Al Aofl sl 2 QAL
B) dllaR 3Aud ol ure vusld a3l Aol st2l ugld el
(C) As wesl Hler g ol c.uiet 0.001 AL B. As tlq il N0 A LS
Hl2R 2 ol AollAd U G ol BSL AR Yscli, Yuad W of BAAS0
12 {ll 21Q ® wal adousik Bet ol 25 W (Aewdt Yuad B ol wdl
A AU w2 B, dl Ul ot 0o ol calt el Hssl HleR g A% «ll
AR = 0 ®.
AYcll
Q.3 (A) AURAs uall alRL Y il ofl AxgAl 1.
(B) Yt clll T=rhdg/ 2cos0 M2 YA AAd 3.
(C) As ARYU FH HI ALY of dlall US tlalld B. IR o slelRk Wl
0.05 Ml 2eeticR s3], US of (A0l srauul A 8. 3u ol cous
0.07 Hl 8l Al 32¢f sl UA? ALY ol slalll of Y dlel 28 x 10°
2 7 {l ®.
Q.4 (A). AL RN A AU AN cARR oll dglelcd AHNIcll.
(B) WURIRAAS 200 Geua s2clloll slsual As Id of wisld W
SELERN
(C) s UG UiS of 5€ 5000 HI* B U Aoll $c el ™Rl 25 330

OWU 8 cl el s ol ylaeld AHA of e 2Ll
uall
Q.4(A). caldsel yHstal.
(B) UEL Yau £9s ofl 29 AglA €13 Aoj 121 AUASA AX Aol
(Qauctst 2l of Y AR
(€) 25 A ofl 3os ot uRncdl As wfdolln Aot &l 50 A €2
yual Uil o cdet 30 12 AL QY uRnddl As g A Ysdi Al
HAAL YAllo of a3U, QLU dall ellet 20 L.
Q.5(A). catval MU :

Q) AU oot sl (R) &A Radis  (3) e JR  (¥) oltlot AGA (W) 5y3L

(B) JEAUR ($alet (UM [QAuisal) ofl Uaetl AHHIC.

(C) As ASA A5l UELEL oll vt Wclot 5L 10 (B B. Al Aol &
[Aaudis 20

wcll
Q.5(A). Aet-2 Geur scll Hizell scll eyat ofl e islA 1R Aal Aol

ad Aat-2 3l A Gaurt el A yHestal.

(B) Q™R oll GUAN vl

(C) SARAUU (YrgRA) ofl veoll UHAAL AR RS UELl oll llH
A,
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(5)
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(4)

(5)
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(5)

(5)

(4)

(5)

(5)
(4)



